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Question 1: (Start a NEW page) 12 marks

(a) Factorise 3x*+14x~5 2
(b) Find the exact values of ¢ and b if Y274 - 44 b3 2
2443
‘ ‘ (c) Neatly sketch of the curve y = |x +.2| and state its domain and range. 3
' (@) Solve the following equations simultaneously . 3
y=2x-10

MATHEMATICS X4yt =25

2 UNIT- YEAR 11 (e) Find the exact value of (i) tan 300° 1
(ii) sec 30° 1
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Question 2 (Starta NEW page) 12 marks

Time allowed: 50 minutes

INSTRUCTIONS ' . (a) A function is defined as follows )

x for x>2
* All questions should be attempted. , 2
* Al necessary working should be shown v fx)=qx" for -2sxs2
* Start each new question on a new page . 6 for x<-2

Approved scientific calculators and drawing templates may be used
Find the value of f(1)+ f(-2)- f(3)

- (b) Find all values of a between 0° and 360° for which sec « = -2 2
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(b) A ship leaves Port M and travels 200 nautical miles to Port L oq a bearing of

2 -130 degrees. It then travels 110 nautical miles to port Q on a bearing of 220
degrees.
(i)  Copyand complete the diagram below to show all g ,?;
the above information, . 1 ‘
(i) Explain why LMLQ =90° 1
(i)  Find the bearing of the Port Q from Port M. 2
" N
(d) A circle is given by x* =6x+y2+ 8y +8§=0. 3
By completing the square, find
@) The co-ordinates of its centre. ()
(i)  The length of it radius :
(e) For the equation y = 1
2x-3
@ Find the y intercept . 1
(i)  Find any vertical asymptote/s 1
(i) State whether the equation i even, odd or neither 1 c
Question 3  (Starta NEW page) 12 marks
A b c )
2
5 Show that sin’@ = zb 7 in the above diagram, 2
(a) 1t is given that 8 'is an acute angle and that tan g =~§—. . b*+c .

(1) Draw aright- angled triangle showing this information.
(i) Use Pythagoras’ theorem to find the length of the missing side
(iil) Write down the exact values of sin B and cos B

(iv)  Show that sin’f + cos? 8 =1 -
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